Was ist die richtige Losung? (plus Zahlen bis 10)

Plusrechnen

o 182+1= 2 163 +8= 3 895 +1=
4 967 +4 = 5. 825+6= & 130+1=
7 596+2= g 91+3= 9. 983 +3 =
0.620+2= 1.952+8= 122993 +5=
13495 +6= 14.422+2= s 211M+6=
w31 +10= 172506 +2= 18510 +5=
19613 +4= 0434 +0= 2. 83+3=
2 122 +7F= 3.998+1= 24686 +3 =
5.291+3 = 26108 + 4= 7. 553 +8 =
.821+2= 9 95+5= 20636 +4=
31.879+1= 228 +10= 2.835+9=
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Was ist die richtige Losung? (plus Zahlen bis 10) | ANTWORTEN

Plusrechnen

. 96F+4 =971 5 825+6=831 , 130+1= 131
7 596 +2=598  91+3= 94 , 983 +3= 986
0620+ 2= 622 |, 952 +8= 960 , 953 + 5= 958
13495+ 6= 501 1, 422 +2=424 s 211+6= 217
6371 +10=381 ; 505+2= 507 ; 510+5= 515
19613+ 4= 617 ;0 434+0=434 , 83+3= 86
2. 122+ 7= 129 ,: 598 + 1= 599 .. 686+3 = 689
5 291+3= 294 ,, 108+ 4= 112 ,; 553 + 8§ = 561
6 821+2= 823 , 95+5= 100 -, 636+ 4= 640
5. 879+1=2880 5, 87+10= 97 35 835+9= 844
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